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Sloth

It looks like a bear but is not. It is a sloth. It
spends almost 17 hours a day sleeping while
hanging upside down on a tree branch. The sloth
eats the leaves of the same tree on which it lives.
It hardly needs anything else. When it has eaten
enough leaves from that tree, it moves to the
nearby tree.

Sloths live for about 40 years and in that time
they move around only eight trees. Once a week
it comes down from the tree to relieve itself.

TICK THE CORRECT OPTION :-

Q.1) Which animal is mentioned in the above lines ?
(a) A bear
(b) A monkey

(c) A sloth v

(d) An elephant
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Q.2) How much time the sloth usually spends sleeping?

(a) 17 hoursv

(b) 3 hours

(c) 24 hours

(d) 1 hour

Q.3) What does the sloth eat?
(a) Burger

(b) Pizza

(c) Ice-cream

(d) Ieavesv

Q.4) For how long does a sloth live?
(a) 7 years

(b) 100 years

(c) 40 yearsv

(d) 11 years

Q.5) Where does a sloth usually live?

(a) On treesv

(b) In palaces
(c) In rivers

(d) In buildings
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